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Candidates are required to give their answers in

their own words as far as practicable.

Answer any ten questions: 2x10=20

T-(FI vifB Qd Teq mie ¢

a)  Mention the principle of extensionality for sets
with exmple.

T3 HRIC] M6y FEFOIF @i Sra 4 |

b) s the following statement true?

forfeifie Refel s 1oy
IfA=Band B=CthenA=C.

IMA=ByB=Cm@olaEs A=C |

[Turn Over]

d)

g)

h)
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Let A={x,y,z}. How many subsets does A contain
and what are they?

4l T, A={x,y,z} A @NTT Fouf] Toid z@
a3 ofdl & o o

What do youmeanby A(JB?

AlJB 3&e F @Ri?

Express the following sentences into set
notation:

SRS IRFEEE G Fioe e 354 ¢

1)  The apostles are twelve.

R GBI B2 |
11)  Apostles are all wise.

Let A and B be sets such that A(J~B=A.
Represent this situation by a Venn diagram.

431 TF, A ¢ BZ5 @5 90 &9 @4 AN ~B=A
(S Ed AEIE O Te 4|

What do you meanby ANB?

AN B J109 I (@RI 2
What i1s meant by Predicables?

s deice [ @R e
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1)

)

Give an example of logical definition.

Jifes weela 930 Trizael wie |
What 1s meant by Division by Dichotomy?

o fetes ge1re F @iz 2

Test the following division :

e eremib oHrF 54 ¢
Plants into stem, root and branches.

NG G, T67 € *L-2HI(S o 4 |

Test the following definition.

ferferfae skeelfo A9 54
A poet 1s an apostle of sweetness and light.

QT B ZA WYY @ BN GBI |

Distinguish between denotation and connotation
of a term.

G936 2 e 8 wreld W Sy 214 9|

2. Answer any four questions: 5x4=20

@I BT A Ted 7ie ¢

a)
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What is wrong with the following argument?
fesfafee gfere & @if abm:?

Tomcats are cats. Cats are a species. Therefore,
tomcats are species.

[[3] [Turn Over]

b)

d)
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Are the following assumptions mutually
consistent? (by Venn dirgram)

fersfere ameE ol (cex forga AR
mae)

B(NC=~A

(ANC)~B=n

(ANB)~C=n
(ANB)U(ANC)U(BNC)== A

What are the domain, counter domain and field
of the relation of being a mother?

el 7*=9($4 domain, Counter domain 93¢ field

efa 39|

Distinguish with examples between (1) Abstract
and Concrete Terms, (1) Positive, Negative and
Privative Terms.

i) TS o e S S ey o1 94|
i) e, 9Rd 8 Gz ot T AL 9 |

1)  How many predicables are recognised by
Aristotle and what are they?

Aristotle Fe%fe] [Rgas o FE@EA @2
I GIRERE T
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11)  To which of the Predicables does each of
the following predicates belong :
e et @ e oeve ?
1) A triangle 1s three sided.
fage za fom arfME |

11)  Swami Vivekananda was born in
Kolkata.

SN [Raslemv FeFror Tuaze T |

f)  When a diagram 1s inconsistent? Explain with
Venn diagram.

43(b Tog F4e SpPEifos) 27 ¢ (Safbrad ARy 1
AT |

3. Answer any two questions: 10x2=20
@I 9o 20eia Tea vl ¢

a)  Test the validity of the following arguments by
Venn diagram.

renbead AR iEte fewfs tauel fva 91

1)  All witnesses are prejudiced.
Some witnesses are not liars.

. Some liars are not prejudiced.
4 AR T3 PACHIATR

@ @I AR w7 S

- G IS T w3 SACHE |
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b)
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ii)

~A c~(B1C)
Cc~A
BcAU~C
~(BUC)c~ A

Let A={12{1}}

@l T, A=1{1,2,{1}}

1)

ii)

i)

Give an example of a binary relation which
1s reflexive and transitive, but not
symmetric in A.

frafes T9mEa aie @ TWizas wie Tt A
AR CFE TS R TREF, g A
7 |

Give an example of a binary relation which
1s reflexive and symmetric, but not
transitive in A.

frafes 7HEa ae o Tuizas wie T A
AT TTEFS 3R TR, [FE A5 77 |

Give an example of a binary relation which
1s reflexive, but neither symmetric nor

transitive in A.

afes FToEd G G THEgd wie T A
A FATHSE, [P WG 1, HLGFISPE 7 |
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d)
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1iv)  Give an example of a binary relation which
1s neither reflexive, symmetric, nor

transitive in A.

Rafes T @i o Twigge wie T A
(EACS FAFHS 2, NS 7, ALGRE 777 |

What 1s Logical Definition? Explain with
examples, the rules of Logical Definition,
indicating the fallacies which arise from their

violation.

Jifes Awl 2 43w 72@iel @ifes FeEl
fesate Ry 9| FINeE e F9E @ @F
53 196 T 4|

Explain and 1llustrate the rules of Logical
Division.

RPN ferers fSRsikE Snigs TS iRl
$d |
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